Sr

10

1"

12

13

14

15

Questions

= BAS 5 e i i pasaie S sa Cun S (S ) 50

o s Gladasa 45 el

S S S o S Ol i

S S ol oy 2 G 0B A8 (S alse oS e S

G S ol 5 Lo a3 1S 5B L S e en s L

oY 50 8 1S Jauag) dum s 55 (S 350 (5 K

G se oIS 'O S8 S

de (1)d=

Sy (UF o Al b S 8 dadi e S s pd S

= Y8 S i (e i 08 S 5K e

g axi o5 K 5 oS Jeala 203 %306 %20 =058 S S sl S

op S8 S esane Sl g8 (o w58 S

PRI ENNY Y

wfc’gg\.,sal.\mé;lm

& ALads SY- iy B L_S/JAAG&J}ADCMIJ}M

Answers Choice

A V5 e e
B. 105 s
C. Gsine

JARCAY

A,\AA
o o=
=]
AN

Erk -

F

X=Zfx/Zf
X=2fx/Zn
X=X/ Zx
*X=Zfx/n

(JIS'
JLLE
;L‘._m

Pl

1.550 5
16358
6.1350 58
5.5,

°F=(9/5x°C)+32
°F=(9/5x°C)+33
°F=9/5(°F+32)
°F=9/5(°F-32)

°C=9/5(°F-32)
°C=9/5(°C+32)
°C=5/9(°F+32)
°C=5/9(°F-32)
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